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‘Wite an equation in slope-intercept form for the line that satisfies each set of
conditions.

25 slope, pases through 0,~6) 24, slope 025, passsthrough 0,4
25, e 1 pascsthrough (1,9 26, slope 3, pscstrogh (5,1
27 o 05, pascs through G, —3) 25 sope 4 poses through the g

29, passesthrough (2,5 and 6,1) 30, passesthrough 7, 1) and 7, )
31, passesthrough (4, 0)and 6,0) 32, passes through (-2, ~3)and (0,0)
3. xintecept ~, interept 31, xintercept L, yintercept —1

35, passe through ), arallel o th graph oy — 21 + 5

6. passe through 2, -3, prpendicular tothegraph o y = 11 +7

7. passes throgh (6, ), perpendicula to the ine whose equation is3x — 1y =3
38, passes through (-3, 1, paralle to the linethat pasees trough G, ) and (0,6

30, Wt cquation in slopeinerept formofthe i that puses [P
through the points indicated in the table.

40, Write an equation in slope-intercept form ofthe line that passes
through (2,10, @, 2), and (4, ~2).

GEOMETRY For Exercises 4143, us the.
total number of degees d in any convex polygon with.
41, Writ this cquation in slope-intercept form.

42, dentify the slope and d-intercept.

45, Find the rumber of degrees in a pentagon.

1806 — 2) that gives the
csides.

44, ECOLOGY A park ranger at Blendon Woods stimates there are 6000 deer in
the park. She also estimates that the population vill increase by 75 decr each
year thereafter. Wrte an equation that epresents how many der vill be in the
park n x years.

45, BUSINESS _Refer tothe signs below. At what distance do the two stores charge
the same amount for a balloon arrangement?

Croe eS| | (e Balloon House
ke mrmgeme $30 Ballaon
Deivery: $3 per mile Arrangements
52 por milo danay
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